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CHAPTER 2

UNDERSTANDING THE ISSUES

1. (a) Jacobson has a passive level of own-
ership and in future periods will record
dividend income of only 15% of Bil-
trite’s declared dividends. Jacobson will
also have to adjust the investment to
market value at the end of each period.

(b) Jacobson has an influential level of
ownership and in future periods will re-
cord investment income of 40% of
Biltrite’s net income. Any dividends
declared by Biltrite will reduce the in-
vestment account but will not affect the
investment income amount.

(c) Jacobson has a controlling level of
ownership and in future periods will add
100% of Biltrite’s net income to its own
net income. Biltrite’s nominal account
balances will be added to Jacobson’s
nominal accounts. Any dividends de-
clared by Biltrite will not affect Jacob-
son’s income.

3. ()

(d) Jacobson has a controlling level of
ownership and in future periods will add
100% of Biltrite’s net income to its own
net income. All (100%) of Biltrite's nom-
inal account balances will be added to
Jacobson’s nominal account balances.
This will result in consolidated net in-
come, followed by a distribution to the
noncontrolling interest equal to 20% of
Biltrite’s income. Any dividends de-
clared by Biltrite will not affect Jacob-
son’s income.

2. The elimination process serves to make the
consolidated financial statements appear
as though the parent had purchased the
net assets of the subsidiary. The invest-
ment account and the subsidiary equity ac-
counts are eliminated and replaced by the
subsidiary’s net assets.

Company Parent NCI
Implied Price Value
Value Analysis Schedule Fair Value (100%) (0%)
Company fair value..........ccccceviiieeeiiineeene $1,200,000 $1,200,000 N/A
Fair value of net assets excluding goodwiill. 800,000 800,000
GOOAWIll.....eeeeeiiiiee e $ 400,000 $ 400,000

Net Assets—marked up 300,000 ($800,000 fair value — $500,000 book value)

Goodwill—$400,000 ($1,200,000 — $800,000)
(b)

Company Parent NCI
Implied Price Value
Value Analysis Schedule Fair Value (80%) (20%)
Company fair value...........ccccceveeiveeiieenreennnenn $1,200,000 $960,000 $240,000
Fair value of net assets excluding goodwiill. 800,000 640,000 160,000
GOOAWIll.....vvveeiiiiiie e $ 400,000 $320,000 $ 80,000

Net Assets—marked up $300,000 ($800,000 fair value — $500,000 book value)

Goodwill—$400,000 ($1,200,000 — $800,000)

The NCI would be valued at $240,000 (20% of the implied company value) to allow the full rec-

ognition of fair values.
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4. (@) Company Parent NCI

Implied Price Value
Value Analysis Schedule Fair Value (100%) (0%)
Company fair value............cccoveeevveeiieeenen, $1,000,000 $1,000,000 N/A
Fair value of net assets excluding goodwiill. 850,000 850,000
GOOAWIll....eeeeeee e $ 150,000 $ 150,000

The determination and distribution of excess schedule would make the following adjustments:
$1,000,000 price — $350,000 net book value = $650,000 excess to be allocated as follows:

CUITENE ASSELS ..veenveeeieieieenieeiee e sieeeee e $ 50,000
Fixed asSets .....coeeevieiiiiiiiiii e 450,000
GOoOAWIll.....ieieeieeee e 150,000
$650,000
(b) Company Parent NCI
Implied Price Value
Value Analysis Schedule Fair Value (100%) (0%)
Company fair value..........ccccceviiieeeiiiienene $ 500,000 $ 500,000 N/A
Fair value of net assets excluding goodwiill. 850,000 850,000
Gain on acquisition ...........cccceeeiiiiiiiieennaenn, $ (350,000) $ (350,000)

The determination and distribution of excess schedule would make the following adjustments:
$500,000 price — $350,000 net book value = $150,000 excess to be allocated as follows:

CUIMENE ASSBLS....eeciieieciieecie e sre e $ 50,000
FIXed aSSetS.....ccvvvviiiiiiiie e 450,000
Gain 0N acquISItion .......cccvveeeeeeeii e (350,000)
$ 150,000
5. (a) Company Parent NCI
Implied Price Value
Value Analysis Schedule Fair Value (80%) (20%)
Company fair value...........cccceeevivieeeiiiineeee, $1,000,000* $800,000 $200,000
Fair value of net assets excluding goodwiill. 850,000 680,000 170,000
GOOAWIll....eeeeeie e $ 150,000 $120,000 $ 30,000

*$800,000/80% = $1,000,000.

The determination and distribution of excess schedule would make the following adjustments:

$800,000 parent’s price — (80% x $350,000 net book value) ............. $520,000
NCI adjustment, $200,000 — (20% x $350,000 net book value)......... 130,000
Total adjustment to be allocated ..........cccceeevviciiiiiiie e, $650,000 as follows:
CUITENT ASSELS .uvvviiiiieiiieesie e s e stte e st e e stte e st e e srbe e e sseeesraeeessaeesneeeenes $ 50,000
FIXEA ASSELS ..vviiiiiiiiie ettt 450,000
[0 o o |11 1| SRR 150,000
$650,000
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(b)

Company Parent NCI
Implied Price Value
Value Analysis Schedule Fair Value (80%) (20%)
Company fair value............cccoveeevveeiieeenen, $770,000%* $600,000 $170,000*
Fair value of net assets excluding goodwiill. 850,000 680,000 170,000
Gain on acquisition .........cccceveeeeeviiciiiieeeeeen, $(80,000) $(80,000) N/A

*Cannot be less than the NCI share of the fair value of net assets excluding goodwill.
**$600,000 parent price + $170,000 minimum allowable for NCI = $770,000.

$600,000 parent’s price — (80% x $350,000 book value) ............... $320,000
NCI adjustment, $170,000 — (20% x $350,000 net book value) ..... 100,000
Total adjustment to be allocated .........cccceeeviiiiiiiiiieee e, $420,000 as follows:
CUITENT ASSELS ..uviiiiiiieiiee ettt et e et ste e e stae e saeeesanes $ 50,000
FIXEA QSSELS ...t 450,000
Gain 0N ACUISITION .....uuiiiiiiee e e e e srrrrr e e e e (80,000)
$420,000
Company Parent NCI
Implied Price Value
Value Analysis Schedule Fair Value (80%) (20%)
Company fair value............cccoeeevvveeiieeenn, $1,000,000* $800,000 $200,000
Fair value of net assets excluding goodwiill. 850,000 680,000 170,000
GOOAWIll....evveeie e $ 150,000 $120,000 $ 30,000

*$800,000/80% = $1,000,000

The NCI will be valued at $200,000, which is 20% of the implied company value. The NCI ac-
count will be displayed on the consolidated balance sheet as a subdivision of equity. It is shown
as a total, not broken down into par, paid-in capital in excess of par, and retained earnings.
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Ch. 2—Exercises

EXERCISES

EXERCISE 2-1

Salvania Corporation
Pro Forma Income Statement
Ownership Levels

10% 30% 80%
SAIES ..t $700,000 $700,000 $1,100,000
Cost of goods SOld .......cccoeeviiiiiiiiiii e, 300,000 300,000 530,000
GroSS Profit ..occuveeeeiciiiiee e $400,000 $400,000 $ 570,000
Selling and administrative eXpenses............ccccceee.... 120,000 120,000 195,000
Operating iNCOME.........ccccuveeiiiee e $280,000 $280,000 $ 375,000
Dividend income (10% x $15,000 dividends)........... 1,500
Investment income (30% x $95,000 reported
1 o] 141 28,500
INL=] T (o101 1[I $281.,500 $308,500 $ 375,000
Noncontrolling interest (20% x $95,000 reported
INCOIME) ..ttt e 19,000
Controlling iNterest.........ccovvvviiiiiiie e, $ 356,000
EXERCISE 2-2
Company Parent NCI
Implied Price Value
Value Analysis Schedule Fair Value (100%) (0%)
Company fair value ...........ccccvvevivvniiiniiiniinnennnnns $530,000 $530,000 N/A
Fair value of net assets excluding goodwill
($280,000 book value + $20,000)..................... 300,000 300,000
GOOAWIll ..o $230,000 $230,000
Lo (Q) CaASN . 20,000*
AccouNnts RECEIVADIC.......ooviiiie e 70,000
INVENTOTY .ot ees 100,000
Property, Plant, and Equipment ($270,000 + $20,000)..... 290,000
GOOAWIll ... 230,000
Current LiabilitieS. ... 80,000
Bonds Payable ... 100,000
CaASH . 530,000*

*Cash may be shown as a net credit of $510,000.
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Ch. 2—Exercises

Exercise 2-2, Concluded

(b) Glass Company
Balance Sheet
Assets

Current assets:

CaASN e $ 30,000

Accounts receivable .......coocoviieiii i, 120,000

INVENEOTY ....citiiii et 150,000 $ 300,000
Property, plant, and equipment (net)..................... 520,000
GOOAWIll ... 230,000
TOtal @SSELS....uuvviiiiiieeiii it $1,050,000

Liabilities and Stockholders’ Equity

Liabilities:

Current liabilities.........cccceveeeeeiiiieeee e $220,000

Bonds payable............ccccvveiiiieiiiecccee e 350,000 $ 570,000
Stockholders’ equity:

Common stock ($100 par) ........cccceeeeviuvveeennnnne. $200,000

Retained earnings .......ccccoovvvvvvvieeiieee e 280,000 480,000
Total liabilities and stockholders’ equity ................ $1,050,000

2. (@) Investmentin PIAstiC.........ccccuvveuvivmiiiniiiiiiiiiiiininnnes 530,000
CaSh .. 530,000

(b) Investment in Plastic appears as a long-term investment on Glass’s unconsolidated
balance sheet.

(c) The balance sheet would be identical to that which resulted from the asset acquisition

of part (1).
EXERCISE 2-3
Company Parent NCI
Implied Price Value
Value Analysis Schedule Fair Value (100%) (0%)
Company fair value ..........cccoooiiiiiiiiieeeeeen To be determined N/A
Fair value of net assets excluding goodwill.............. $580,000~ $580,000

Goodwill
Gain on acquisition

*$420,000 net asset book value + $40,000 inventory increase + $20,000 land increase +
$100,000 building increase = $580,000 fair value.

(1) Goodwill will be recorded if the price is above $580,000.
(2) A gain will be recorded if the price is below $580,000.
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EXERCISE 2-4

Investment in Pail INC. .....coovniiiiieie e 950,000
CaASN e ————— 950,000
Acquisition COStS EXPENSE ........ccoovvviviiiiiiiiiieeeeeeeeee, 10,000
(8= 1] o 10,000
Company Parent NCI
Implied Price Value
Value Analysis Schedule Fair Value (100%) (0%)
Company fair value...........ccoceeeeeeiieeececiieeeee, $950,000 $950,000 N/A
Fair value of net assets excluding goodwill ...... 850,000* 850,000
GOOAWIll ... $100,000 $100,000

*$700,000 net book value + $50,000 inventory increase + $100,000 depreciable fixed

assets increase = $850,000 fair value.

Determination and Distribution of Excess Schedule

Company Parent
Implied Price
Fair Value (100%)
Fair value of subsidiary.............. $950,000 $950,000
Less book value of interest acquired:
Common stock ($10 par)........ $300,000
Paid-in capital in excess of par 380,000
Retained earnings................... 20,000
Total stockholders’ equity ... $700,000 $700,000
Interest acquired..................... 100%
Book value..........ccceveeviiieeiiinnns $700,000
Excess of fair value over book
ValUB ..o $250,000 $250,000
Adjustment of identifiable accounts:
Worksheet
Adjustment Key
Inventory ($250,000 fair —
$200,000 book value)............. $ 50,000 debit D1
Depreciable fixed assets
($700,000 fair — $600,000
book value).........ccccvvvvvvinnnnnnes 100,000 debit D2
GoodWill.....coeveeeiiiiiiiiiiee s 100,000 debit D3
Total . $250,000
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Exercise 2-4, Concluded

(3) Elimination entries:

(1)

Ch

. 2—Exercises

Common Stock ($10 par)—Palil...........ccocoeiiiiiiiiiee e 300,000
Paid-In Capital in Excess of Par—Pail.............ccccccevvvvvvivinnnnnnn. 380,000
Retained Earnings—Palil...............ccccccvvvviiiiieeeeeeee 20,000
INvestMent in Pail INC. .....vveieeeie e 700,000
L3V o1 o] Y 50,000
Depreciable Fixed ASSEtS........ccccvvviviiiiiieeeeeeeeeee, 100,000
(€00 1,771 R 100,000
INvestMeNnt iN Pail INC. .....vveiieii e 250,000
EXERCISE 2-5
Company Parent NCI
Implied Price Value
Value Analysis Schedule Fair Value (100%) (0%)
Company fair value..........ccoceeeeeiiieee i, $ 700,000 $ 700,000 N/A
Fair value of net assets excluding goodwill ...... 885,000 885,000
Goodwill
Gain on acquISItioN .............evvvvvviieiiieinii. $(185,000)  $(185,000)
Determination and Distribution of Excess Schedule
Company Parent NCI
Implied Price Value
Fair Value (100%) (0%)
Price paid for investment........... $700,000 $700,000 N/A
Less book value of interest acquired:
Common stock ($5 par).......... $200,000
Paid-in capital in excess of par 300,000
Retained earnings................... 175,000
Total equity.........ccceeevvenee. $675,000 $675,000
Interest acquired..................... 100%
Book value..........ccccueeeiiieeiinnnns $675,000
Excess of fair value over book
ValUB ..o $ 25,000 $ 25,000
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Exercise 2-5, Concluded

Adjustment of identifiable accounts:

Worksheet
Adjustment Key

Inventory ($215,000 fair —

$200,000 book value)............. $ 15,000 debit D1
Property, plant, and equipment

($700,000 fair — $500,000

book value)..........cccvvvvviinnnnnes 200,000 debit D2
Computer software ($130,000
fair — $125,000 book value).... 5,000 debit D3

Premium on bonds payable
($200,000 fair — $210,000

book value)........cccccceeeiiiiinnns (10,000) credit D4
Gain on acquisition .................... (185,000) credit D5
Total . $ 25,000
Elimination entries:
Common Stock ($5 par)—Genall...........ccooiviiiiiiiiiieeeiiieees 200,000
Paid-In Capital in Excess of Par—Genall ............cccccoeevveienne. 300,000
Retained Earnings—Genall ..............ccccccviie, 175,000
Investment in Genall Company .........cccccvvviiviiieeeeeeen s 675,000
INVENTOTY ...t e e s 15,000
Property, Plant, and EqQuipment...........c.coovvvvvvviiinin e, 200,000
COoMPULEr SOftWEAIE.......uuieeiiiiiiiiiiiiii e 5,000
Gain on ACQUISILION .....ocoevieiiiiiiee e 185,000
Premium on Bonds Payable...........ccccceviiiiniiiciiveeiceee e, 10,000
Investment in Genall Company ............ccccceeeeeeeeeeeeeeeeeee e, 25,000
EXERCISE 2-6
(a) Value of NCI implied by price paid by parent
Company Parent NCI
Implied Price Value
Value Analysis Schedule Fair Value (80%) (20%)
Company fair value..........ccoeeeeeiiieecieciieeee, $1,000,000% $800,000 $200,000**
Fair value of net assets excluding goodwill ...... 820,000 656,000 164,000
GOOAWIll...ovveeeieeecic e $ 180,000 $144,000 $ 36,000

*$800,000/80% = $1,000,000.
**$1,000,000 x 20% = $200,000.
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Exercise 2-6, Continued

Determination and Distribution of Excess Schedule

Ch. 2—Exercises

Company Parent NCI
Implied Price Value
Fair Value (80%) (20%)
Fair value of subsidiary.............. $1,000,000 $800,000 $200,000
Less book value of interest
acquired:
Common stock ($5 par).......... $ 100,000
Paid-in capital in excess of par 150,000
Retained earnings .................. 250,000
Total equity.......ccccvvvvvveeeennn. $ 500,000 $500,000 $500,000
Interest acquired..................... 80% 20%
Book value........cccceeeeeeeeeeennnnen. $400,000 $100,000
Excess of fair value over book
ValUB ... $ 500,000 $400,000 $100,000
Adjustment of identifiable accounts:
Worksheet
Adjustment Key
Inventory ($250,000 fair —
$200,000 book value)............. $ 50,000 debit D1
Land ($200,000 fair —
$100,000 book value)............. 100,000 debit D2
Building ($650,000 fair —
$450,000 book value)............. 200,000 debit D3
Equipment ($200,000 fair —
$230,000 book value)............. (30,000) credit D4
GoodWill......ooveeeiiiiiiiiieeeees 180,000 debit D5
Total .. $500,000
(b) NCI = 4,000 shares at $45
Company Parent NCI
Implied Price Value
Value Analysis Schedule Fair Value (80%) (20%)
Company fair value..........ccoeeeeeiiieee i, $980,000 $800,000 $180,000*
Fair value of net assets excluding goodwill ...... 820,000 656,000 164,000
GOOAWIll ... $160,000 $144,000 $ 16,000

*4. 000 shares x $45.
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Ch. 2—Exercises

Exercise 2-6, Continued

Determination and Distribution of Excess Schedule

Company Parent NCI
Implied Price Value
Fair Value (80%) (20%)
Fair value of subsidiary.............. $980,000 $800,000 $180,000
Less book value of interest acquired:
Common stock ($5 par).......... $100,000
Paid-in capital in excess of par 150,000
Retained earnings................... 250,000
Total equity........cccvvvvveeeennn. $500,000 $500,000 $500,000
Interest acquired.................... 80% 20%
Book value...........ccccveeeeineciinenns $400,000 $100,000
Excess of fair value over book
ValUB ..o $480,000 $400,000 $ 80,000
Adjustment of identifiable accounts:
Worksheet
Adjustment Key
Inventory ($250,000 fair —
$200,000 book value)............. $ 50,000 debit D1
Land ($200,000 fair —
$100,000 book value)............. 100,000 debit D2
Building ($650,000 fair —
$450,000 book value)............. 200,000 debit D3
Equipment ($200,000 fair —
$230,000 book value)............. (30,000) credit D4
GoodWill......cooeeeiiiiiiiiiiice e, 160,000 debit D5
Total . $480,000
(c) NCI = 20% of fair value of net tangible assets
Company Parent NCI
Implied Price Value
Value Analysis Schedule Fair Value (80%) (20%)
Company fair value..........ccccocoeeiiieeniieeeeee $964,000 $800,000 $164,000*
Fair value of net assets excluding goodwill ...... 820,000 656,000 164,000
GOOAWIll ... $144,000 $144,000 $ 0

*Equal to 20% of fair value of net identifiable assets.
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Ch. 2—Exercises

Exercise 2-6, Continued

Determination and Distribution of Excess Schedule

Company Parent NCI
Implied Price Value
Fair Value (80%) (20%)
Fair value of subsidiary.............. $964.,000 $800,000 $164,000
Less book value of interest acquired:
Common stock ($5 par).......... $100,000
Paid-in capital in excess of par 150,000
Retained earnings................... 250,000
Total equity........cccoovveeeernnne $500,000 $500,000 $500,000
Interest acquired..................... 80% 20%
Book value..........ccoceeeeeiiieiiiinnns $400,000 $100,000
Excess of fair value over book
Value ... $464,000 $400,000 $ 64,000
Adjustment of identifiable accounts:
Worksheet
Adjustment Key
Inventory ($250,000 fair —
$200,000 book value)............. $ 50,000 debit D1
Land ($200,000 fair —
$100,000 book value)............. 100,000 debit D2
Building ($650,000 fair —
$450,000 book value)............. 200,000 debit D3
Equipment ($200,000 fair —
$230,000 book value)............. (30,000) credit D4
GOoOAWIll .....ceeiiiiieiiiiiee e 144,000 debit D5
Total ..o $464,000
(2) Elimination entries:
(a) Value of NCI implied by price paid by parent
Common Stock ($5 par)—Commo (80%0)........cceerurreeeriiiiereannns 80,000
Paid-In Capital in Excess of Par—Commo (80%) .................... 120,000
Retained Earnings—Commo (8090) .........ccceeeerriiiiiinieiieeeennnnans 200,000
Investment in Commo COMPaNY .......cccoeeveeieeeieieieeeeeeeeeeeeen, 400,000
L3V o1 o] Y 50,000
LANA....ceeeie 100,000
BUIAING ..o 200,000
GOOAWIIL ...t 180,000
EQUIPMENT ... 30,000
Investment in Commo Company (excess remaining)........... 400,000
Noncontrolling Interest (to adjust to fair value).................... 100,000
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Ch. 2—Exercises

(1)

Exercise 2-6, Concluded

(b) NCI = 4,000 shares at $45

Common Stock ($5 par)—Commo (80%0)........cceervrrereriiiireeannns 80,000
Paid-In Capital in Excess of Par—Commo (80%) .................... 120,000
Retained Earnings—Commo (8090) .........ccceeerrriiiiirniiiieeennnnnns 200,000
Investment in Commo COMPaNY .......cccoeevveieeieeieiieeeeeeeeeeeen, 400,000
[NV =T o1 o] Y 50,000
LANG....ceeeee e 100,000
BUIIING ..o 200,000
GOOAWIIL ...t 160,000
EQUIPMENT ..., 30,000
Investment in Commo Company (excess remaining)........... 400,000
Noncontrolling Interest (to adjust to fair value).................... 80,000
(c) NCI = 20% of fair value of net tangible assets
Common Stock ($5 par)—Commo (809%0)........ccceevevrivrrrreeennnnn. 80,000
Paid-In Capital in Excess of Par—Commo (80%) .................... 120,000
Retained Earnings—Commo (8090) .........ccceeerrriiiiiinreeeeeeennnnns 200,000
Investment in Commo COMPaNY .......cccooeveeieeeiiieiieeeeeeeeeeeee, 400,000
INVENTOIY ..ttt e e 50,000
1= T T 100,000
BUIAING ..o 200,000
GOOAWIIL ...t 144,000
EQUIPMENT ... 30,000
Investment in Commo Company (excess remaining)........... 400,000
Noncontrolling Interest (to adjust to fair value)..................... 64,000
EXERCISE 2-7
Company Parent NCI
Implied Price Value
Value Analysis Schedule Fair Value (80%) (20%)
Company fair value..........coceeeeeviiieee e, $646,000 $512,000**  $134,000*
Fair value of net assets excluding goodwill ...... 670,000 536,000 134,000
Gain on acquUISItioN .............eeeeeeeeeeeiieieinneienninnns $(24,000) $(24,000) N/A

*Must at least equal fair value of assets.
**8,000 shares x $64.
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Ch. 2—Exercises

Exercise 2-7, Concluded

Determination and Distribution of Excess Schedule

Company Parent NCI
Implied Price Value
Fair Value (80%) (20%)
Price paid for investment........... $646,000 $512,000 $134,000
Less book value of interest acquired:
Common stock ($5 par).......... $ 50,000
Paid-in capital in excess of par 130,000
Retained earnings................... 370,000
Total equity........cccvvvveeeeennn. $550,000 $550,000 $550,000
Interest acquired.................... 80% 20%
Book value...........ccccveeeeineciinenns $440,000 $110,000
Excess of fair value over book
ValUB ..o $ 96,000 $ 72,000 $ 24,000
Adjustment of identifiable accounts:
Worksheet
Adjustment Key

Inventory ($400,000 fair —

$280,000 book value)............. $ 120,000 debit D1
Property, plant, and equipment

($500,000 fair — $400,000

book value).........ccccvvvvvvinnnnnnns 100,000 debit D2
Goodwill ($0 fair — $100,000
book value)........cccccceeeviiiinnens (100,000) credit D3
Gain on acquisition .................... (24,000) credit D4
Total ..o, $ 96,000

(2) Elimination entries:

Common Stock ($5 par) (80%0) ......ccevvveeiiereaiiieeiieee e 40,000

Paid-In Capital in Excess of Par (8090).........c.ccceevvvieeeeeeennnnnnnn. 104,000

Retained Earnings (80%0)...........cccovvvvviiiiiiiiiiieiiieeeeeeeeeeeeeeeeee 296,000
Investment in Sundown ComMpPany ...........ccccvvveeeeeeeennnininnnnn. 440,000

[Ny =T o1 o] Y 120,000

Property, Plant, and Equipment...........ccccccvvvviiiiiiieiiieiieceeeeee 100,000
GOOAWIIl .evrieeeee e 100,000
Gain on Acquisition (Venus retained earnings).................... 24,000
Investment in Sundown Company (excess remaining) ........ 72,000
Noncontrolling Interest (to adjust to fair value)..................... 24,000
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EXERCISE 2-8

Company Parent NCI
Implied Price Value
Value Analysis Schedule Fair Value (80%) (20%)
Company fair value..........ccccoeoeeiiiieeiiieecieee $450,000 $360,000* $90,000
Fair value of net assets excluding goodwill ...... 390,000 312,000 78,000
GOOAWIIl ... $ 60,000 $ 48,000 $12,000

*1,000 prior shares included at $45 ($315,000/7,000 shares) per share, the market value
on January 1, 2016. $315,000 + $45,000 = $360,000.

Determination and Distribution of Excess Schedule

Company Parent NCI
Implied Price Value
Fair Value (80%) (20%)
Fair value of subsidiary.............. $450,000 $360,000 $ 90,000
Less book value of interest acquired:
Common stock ($10 par)........ $100,000
Retained earnings .................. 240,000
Total equity........cccvvvveeeeeennn. $340,000 $340,000 $340,000
Interest acquired..................... 80% 20%
Book value.........ccccovvveeiiiiinneen, $272,000 $ 68,000
Excess of fair value over book
value

....................................... $110,000 $ 88,000 $ 22,000

Adjustment of identifiable accounts:

Worksheet
Adjustment Key

Equipment ($150,000 fair —

$100,000 book value)............. $ 50,000 debit D1
GoodWill ....covveeeeieiii e, 60,000 debit D2

B 0] = | $110,000

Investment iN DOYIE .........coovviiiiiiiiiii e, 315,000

(8= 1] o T 315,000
Investment in Doyle (1,000 X $45).......cccccccvveiiiiireeiiiiiee e 45,000

Available-for-Sale Investment ...........cocveeveiieiieeciiie e, 40,000

Unrealized Gain on InvestmMent........cooooveviiviiiiiieieieeeeeeeeen, 5,000

Note: Applicable allowance for any market value adjustment would also be reversed.

48



Ch. 2—Exercises

EXERCISE 2-9

(1) Investmentin Craig ComMPAaNY .......cceveeieeeeiiiiiiiiiireeee e e 950,000
CaASN e ————— 950,000
2 Company Parent NCI
Implied Price Value
Value Analysis Schedule Fair Value (100%) (0%)
Company fair value...........ccoceeeeeviieee e, $950,000 $950,000 N/A
Fair value of net assets excluding goodwill ...... 900,000
GOOAWIll ... $ 50,000

Determination and Distribution of Excess Schedule

Company Parent NCI
Implied Price Value
Fair Value (100%) (0%)
Fair value of subsidiary.............. $950,000 $950,000 N/A
Less book value of interest acquired:
Common stock ($10 par)........ $300,000
Retained earnings .................. 420,000
Total equity.........coeevveeenns $720,000 $720,000
Interest acquired..................... 100%
Book value...........cccoeeeeiuineiiinens $720,000
Excess of fair value over book
ValUe.....oooiiiiiiiiiieee e $230,000 $230,000

Adjustment of identifiable accounts:

Worksheet
Adjustment Key

Land ($250,000 fair — $200,000

book value)............ccecuvveeennnne $ 50,000 debit D1
Building ($700,000 fair —

$600,000 book value)............. 100,000 debit D2
Discount on bonds payable

($280,000 fair — $300,000

book value).........ccccvvvvviinnnnnnes 20,000 debit D3
Deferred tax liability ($40,000

fair — $50,000 book value)...... 10,000 debit D4
GoodWill.....ccooeviiiiiiiieeeeeeeeeiie, 50,000 debit D5

Total cceeeeeeieecee e, $230,000

49



Ch. 2—Exercises

Exercise 2-9, Concluded

(3) Adjustments on Craig books:

(4)

Building ...
Discount on Bonds Payable........
GoodWill......eeeeein
Deferred Tax Liability..................

Paid-In Capital in EXcess of Par........c.cccooviiiiiiiiiiiiiniiiii

Elimination entries:

Common StocK ...........eeueennnnnnnnns
Paid-In Capital in Excess of Par.
Retained Earnings............c..........

Investment in Craig Company

50

50,000
100,000
20,000
50,000
10,000

300,000
230,000
420,000

230,000

950,000
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APPENDIX EXERCISE

EXERCISE 2A-1

Public
Company Parent NCI
Implied Price Value
Value Analysis Schedule Fair Value (60%)" (40%)°
Company fair value ...........ccoeeeeeeiiiciccieceee e $5,000% $3,000 $2,000
Fair value of net assets excluding goodwill.............. 3,000 1,800 1,200
GOOAWIll ..o $2,000 $1,200 $ 800

%Values are prior to acquisition (200 shares x $25 market value).

Subsequent to acquisition, Private Company is the “parent” with 60% ownership [300 sh./(200
+ 300 = 500 sh.)]; prior to acquisition, Private Company has 0% ownership of Public Company.

“Prior to acquisition, this represents 100% ownership of Public Company; subsequent to acqui-
sition, these holders of 100 shares of Public Company become the 40% NCI.

Determination and Distribution of Excess Schedule

Public
Company Parent NCI
Implied Price Value
Fair Value (60%) (40%)
Fair value of subsidiary..................... $5,000 $3,000 $2,000
Less book value of interest acquired:
Common stock ($1 par)............... $ 200
Paid-in capital in excess of par ... 800
Retained earnings............ccccuvuve. 1,000
Total equity........ccccvvvveveeeeennn. $2,000 $2,000 $2,000
Interest acquired ...........ccooeeeee..e. 60% 40%
BoOK value .........ccoovveiiiieiiiee e $1,200 $ 800
Excess of fair value over book
ValUB...vveieieee e 3,000 1,800 1,200
Adjustment of identifiable accounts:
Worksheet
Adjustment Key
Fixed assets ($3,000 fair —
$2,000 book value)...................... $1,000 debit D1
GoOoAWIll ... 2,000 debit D2
Total ... $3,000
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(1)

(2)

PROBLEMS
PROBLEM 2-1
Investment in Dalke ComMpPany.........ccccuvvviiiieiiniiniiiiiiieeee e 720,000*
CommOoN StOCK ($L PAI) ..eeiueeieiiiee it 18,000
Paid-In Capital in Excess of Par ($720,000 — $$18,000 par) 702,000
*18,000 shares x $40.
Acquisition Expense (close to Retained Earnings)................... 40,000
(8= 1= o 40,000
Company Parent NCI
Implied Price Value
Value Analysis Schedule Fair Value (100%) (0%)
Company fair value...........ccoceeeeeeineeececiieeeee, $720,000 $720,000 N/A
Fair value of net assets excluding goodwill ...... 405,000 405,000
GOOAWIll ... $315,000 $315,000
Determination and Distribution of Excess Schedule
Company Parent NCI
Implied Price Value
Fair Value (100%) (0%)
Fair value of subsidiary.............. $720,000 $720,000 N/A
Less book value of interest acquired:
Common stock ($1 par).......... $ 20,000
Paid-in capital in excess of par 180,000
Retained earnings................... 140,000
Total equity.......cccoeeveeeenns $340,000 $340,000
Interest acquired.................... 100%
Book value...........ccceveeecuieeiiinen, $340,000
Excess of fair value over book
ValUe....ooooiiiiiiiiieeee e $380,000 $380,000
Adjustment of identifiable accounts:
Worksheet
Adjustment Key
Inventory ($80,000 fair —
$60,000 book value)............... $ 20,000 debit D1
Land ($90,000 fair — $40,000
book value)..........cccuvvvveinnnnnnes 50,000 debit D2
Building ($150,000 fair —
$120,000 book value)............. 30,000 debit D3
Equipment ($75,000 fair —
$110,000 book value)............. (35,000) credit D4
GoodWill.....cevveeeiiiiiiiieeee s 315,000 debit D5
LI ] = L $380,000
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(1)

Problem 2-1, Concluded

Ch. 2—Problems

Raabe Company and Subsidiary Dalke Company

Consolidated Balance Sheet
July 1, 2016

Assets

Current assets:
(@)1 g TST = TS TST =] £
Inventory (including $20,000 adjustment) ...........ccccoovuvvvneee.

Long-lived assets:
Land (including $50,000 iNCrease) ........ccceeevvuveeeeeiiiveneennnne
Building (including $30,000 inCrease) .........ccccccveeeeeeeecvvnnnen.
Equipment (including $35,000 decrease)............ccccveeeennee.
GOoOAWIll ..o
TOtAl @SSELS ..o

Current labilities ..........evviiiiiii e
Stockholders’ equity:
CommoN StOCK, PAr.......cuciiiie e
Paid-in capital in excess of par .......ccccoevevveeiieiiiie e,
Retained armingsS .........cuuvveeiiiiiiiiiiiiieeee e
Total stockholders’ eqUIty .......ccooeveeieieee e,
Total liabilities and stockholders’ equity..........cccccceevvierveeeennnnnnn.

*$50,000 + $70,000 less $40,000 acquisition costs.
**$420,000 less $40,000 acquisition costs.

PROBLEM 2-2

Investment in Dalke Company..........ccccccccvviiviiiiiiiiiiecee
Common StOCK (BL PAr) ..eeeeeiiiiiieeiiieee e
Paid-In Capital in Excess of Par ($560,000 — $14,000 par).

*14,000 shares x $40.

Acquisition Expense (close to Retained Earnings)...................
CaASN .
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$ 80,000*
200,000
$ 280,000
$190,000
450,000
505,000
315,000 1,460,000
$1,740,000
$ 240,000
$ 58,000
1,062,000
380,000**
1,500,000
$1,740,000
560,000*
14,000
546,000
40,000
40,000
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(2)

Problem 2-2, Continued

Company Parent NCI
Implied Price Value
Value Analysis Schedule Fair Value (80%) (20%)
Company fair value..........ccccoeoeeiiiieeiiieecieee $700,000* $560,000 $140,000
Fair value of net assets excluding goodwill ...... 405,000 324,000 81,000
GOOAWIll ... $295,000 $236,000 $ 59,000
*$560,000/80%.
Determination and Distribution of Excess Schedule
Company Parent NCI
Implied Price Value
Fair Value (80%) (20%)
Fair value of subsidiary.............. $700,000 $560,000 $140,000
Less book value of interest acquired:
Common stock ($10 par)........ $ 20,000
Paid-in capital in excess of par 180,000
Retained earnings................... 140,000
Total equity........cccvvvveeeeeennn. $340,000 $340,000 $340,000
Interest acquired..................... 80% 20%
Book value.........ccccovvveeiiiiinneen, $272,000 $ 68,000
Excess of fair value over book
ValUB ..o $360,000 $288,000 $ 72,000
Adjustment of identifiable accounts:
Worksheet
Adjustment Key
Inventory ($80,000 fair —
$60,000 book value)............... $ 20,000 debit D1
Land ($90,000 fair — $40,000
book value)..........cccevvvviinnnnnnns 50,000 debit D2
Building ($150,000 fair —
$120,000 book value)............. 30,000 debit D3
Equipment ($75,000 fair —
$110,000 book value)............. (35,000) credit D4
GoodWill.....coeveeiiiiiiiiiiies 295,000 debit D5
LI ] = | $360,000

54



Ch. 2—Problems

Problem 2-2, Concluded

3) Raabe Company and Subsidiary Dalke Company
Consolidated Balance Sheet
July 1, 2016

Assets
Current assets:
(@] 11 = (oI 1<) TR $ 80,000*
Inventory (including $20,000 adjustment) ...........ccccoovuvvvneee. 200,000
$ 280,000
Long-lived assets:
Land (including $50,000 INCrease) ..........cccvvveeeeeeeeeninivvnnnn. $190,000
Building (including $30,000 iNCrease) ..........ccccvveevivveeeennnnne 450,000
Equipment (including $35,000 decrease)............ccccveeeennee. 505,000
GOOAWIIl .. 295,000 1,440,000
TOtAl @SSELS ..o $1,720,000
Liabilities and Stockholders’ Equity
Current liabilities ..........coiviiiiiiee e $ 240,000
Stockholders’ equity:
Common StOCK (PAF).......cccciuiiiiieeee e $ 54,000
Paid-in capital in excess of par .......ccccoevevveeiieiiiie e, 906,000
Retained armingsS .........cuuvveeiiiiiiiiiiiiieeee e 380,000**
Total controlling iNterest..........coooeeeei i, $1,340,000
Noncontolling INErest ........ccovvveeeiiieeiiii e, 140,000
Total stockholders’ equity ........cccooveeiiiiiiii e, $1,480,000
Total liabilities and stockholders’ equity............cccoeeeeeeieeeienn. $1,720,000
*$50,000 + $70,000 less $40,000 acquisition costs.
**$420,000 less $40,000 acquisition costs.
PROBLEM 2-3
(1) Investmentin Entro Corporation..........cccceeeveeeveieeieeeeeeeeeeeeeenneee. 400,000
CaASN e ————— 400,000
2 Company Parent NCI
Implied Price Value
Value Analysis Schedule Fair Value (100%) (0%)
Company fair value..........cccoooviiiiiiiiiieie $400,000 $400,000 N/A
Fair value of net assets excluding goodwill ...... 420,000 420,000
Gain on acquisition (retained earnings)............ $(20,000) $(20,000)
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Problem 2-3, Concluded

Determination and Distribution of Excess Schedule

Company Parent NCI
Implied Price Value
Fair Value (100%) (0%)
Price paid for investment........... $400,000 $400,000 N/A
Less book value of interest acquired:
Common stock ($5 par).......... $ 50,000
Paid-in capital in excess of par 250,000
Retained earnings................... 70,000
Total equity........cccvvvveeeeennn. $370,000 $370,000
Interest acquired.................... 100%
Book value.........ccccovvveeeeiiienennns $370,000
Excess of fair value over book
ValUB ... $ 30,000 $ 30,000
Adjustment of identifiable accounts:
Worksheet
Adjustment Key
Inventory ($100,000 fair —
$80,000 book value)............... $ 20,000 debit D1
Land ($40,500 fair — $40,000
book value)........cccccceeeviiiinnens 500 debit D2
Building ($202,500 fair —
$180,000 net book value)....... 22,500 debit D3
Equipment ($162,000 fair —
$160,000 net book value)....... 2,000 debit D4
Discount on bonds payable
($95,000 fair — $100,000
book value).........ccccvvvvvvinnnnnnns 5,000 debit D5
Gain on acquisition .................... (20,000) credit D6
Total oveeeeeeee e $ 30,000
(3) Elimination entries:
CommON SEOCK—ENTIIO ......viviiiieiiee e 50,000
Paid-In Capital in Excess of Par—ENtro.........ccccceeeveeevvevvnnnnnnnn. 250,000
Retained Earnings—ENtro............ccccccvvvviiiiieeeeee 70,000
Investment in Entro Corporation ............cccceeeee e, 370,000
INVENTOTY ...t 20,000
LANd... e 500
BUIIING ..o 22,500
EQUIPMENt.....oo e 2,000
Discount on Bonds Payable.........cccccccoooiiiiiiiiiiii e, 5,000
Retained Earnings, Carlson (controlling gain)..................... 20,000
Investment in Entro Corporation ............ccccoeeeee e 30,000
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PROBLEM 2-4
Investment in Express Corporation............ccccceeeveevevveeeeeeeeeennnnne 320,000
CaASN e —————— 320,000
Company Parent NCI
Implied Price Value
Value Analysis Schedule Fair Value (80%) (20%)
Company fair value..........ccoeeeeeiiieee e $405,400**  $320,000 $85,400*
Fair value of net assets excluding goodwill ...... 427,000 341,600 85,400
Gain on acquisition (retained earnings)............ $(21,600) $(21,600) $ 0
*NCI minimum allowed is equal to fair value of net assets.
**Parent’s 80% + NCI's minimum.
Determination and Distribution of Excess Schedule
Company Parent NCI
Implied Price Value
Fair Value (80%) (20%)
Price paid for investment........... $405,400 $320,000 $ 85,400
Less book value of interest acquired:
Common stock ($10 par)........ $ 50,000
Paid-in capital in excess of par 250,000
Retained earnings................... 70,000
Total equity........cccvvvveeeeeennn. $370,000 $370,000 $370,000
Interest acquired.................... 80% 20%
Book value...........ccceveeecieeeiinens $296,000 $ 74,000
Excess of fair value over book
ValUe....ooooiiiiiiiiiieee e $ 35,400 $ 24,000 $ 11,400
Adjustment of identifiable accounts:
Worksheet
Adjustment Key
Inventory ($100,000 fair —
$80,000 book value)............... $ 20,000 debit D1
Land ($50,000 fair — $40,000
book value)..........ccccvvvvvinnnnnnes 10,000 debit D2
Buildings ($200,000 fair —
$180,000 net book value)....... 20,000 debit D3
Equipment ($162,000 fair —
$160,000 net book value)....... 2,000 debit D4
Discount on bonds payable
($95,000 fair — $100,000
book value)..........ccccvvviiennnnnnes 5,000 debit D5
Gain on acquisition..................... (21,600) credit D6

Total ..o $ 35,400
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Problem 2-4, Concluded

(3) Elimination entries:

(1)

(2)

Common Stock—Express ($50,000 X 809%0) .........cccveeerriveeeenns 40,000
Paid-In Capital in Excess of Par—Express ($250,000 x 80%). 200,000
Retained Earnings—Express ($70,000 x 80%)..........c.cceerunee.. 56,000
Investment in Express Corporation ..........ccocoeeeeeeeeeeeeee e, 296,000
L3V o1 o] Y 20,000
LaNG. e 10,000
BUIIINGS ..o 20,000
Lo [U] 0] =] o | S 2,000
Discount on Bonds Payable................ccccccii 5,000
Retained Earnings—Penson (controlling gain) .................... 21,600
Investment in Express Corporation ..........cccceeeeeeeeeeeeeee e, 24,000
Retained Earnings—Express (NCI equity share)................. 11,400
PROBLEM 2-5
Investment in Robby Corporation ............ccccceevviiiiiiiiiis 480,000
CaASN e —————— 480,000
Company Parent NCI
Implied Price Value
Value Analysis Schedule Fair Value (100%) (0%)
Company fair value..........ccoeeeeeiiieee i, $480,000 $480,000 N/A
Fair value of net assets excluding goodwill ...... 417,000 417,000
GOOAWIll ... $ 63,000 $ 63,000
Determination and Distribution of Excess Schedule
Company Parent NCI
Implied Price Value
Fair Value (100%) (0%)
Fair value of subsidiary.............. $480,000 $480,000 N/A
Less book value of interest acquired:
Common stock ($5 par).......... $ 50,000
Paid-in capital in excess of par 250,000
Retained earnings................... 70,000
Total equity........cccvvvvveeeennn. $370,000 $370,000
Interest acquired.................... 100%
Book value...........cccceveevvveeiineenns $370,000
Excess of fair value over book
ValUB ..o $110,000 $110,000
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Problem 2-5, Concluded

Adjustment of identifiable accounts:

Worksheet
Adjustment Key
Inventory ($100,000 fair —
$80,000 book value)............... $ 20,000 debit D1
Land ($55,000 fair — $40,000
book value)..........cccvvvvvvinninnnns 15,000 debit D2
Buildings ($200,000 fair —
$180,000 net book value)....... 20,000 debit D3
Equipment ($150,000 fair —
$160,000 net book value)....... (10,000) credit D4
Discount on bonds payable
($98,000 fair — $100,000
book value).........ccccvvvvvvinnnnnnes 2,000 debit D5
GoodWill.....cooveeeiiiiiiiiiieee e, 63,000 debit D6
Total . $110,000
INVENTOTY ..t
Land.. ..o
BUIldINgS ...
Discount on Bonds Payable............ccccuviiiiiiiiiiiiiiiiiiieeee e
GOOAWIIL ...
EQUIPMENT ... e
Paid-In Capital in Excess of Par............ccccceeeeiiei .
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20,000
15,000
20,000

2,000
63,000

10,000
110,000
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PROBLEM 2-6
Company Parent NCI
Implied Price Value
Value Analysis Schedule Fair Value (100%) (0%)
Company fair value..........ccccoeoeeiiiieeiiieecieee $475,000 $475,000 N/A
Fair value of net assets excluding goodwill ...... 335,000 335,000
GOOAWIll ... $140,000 $140,000
Determination and Distribution of Excess Schedule
Company Parent NCI
Implied Price Value
Fair Value (100%) (0%)
Fair value of subsidiary.............. $475,000 $475,000 N/A
Less book value of interest acquired:
Common stock ($5 par).......... $ 50,000
Paid-in capital in excess of par 70,000
Retained earnings................... 130,000
Total equity........cccvvvvveeeennn. $250,000 $250,000
Interest acquired..................... 100%
Book value..........ccocceeeeiiieeiinnenns $250,000
Excess of fair value over book
ValUB ..o $225,000 $225,000
Adjustment of identifiable accounts:
Worksheet
Adjustment Key
Inventory ($140,000 fair —
$120,000 book value)............. $ 20,000 debit D1
Land ($45,000 fair — $35,000
book value).........ccccvvvvvviinnnnnns 10,000 debit D2
Building and equipment
($225,000 fair — $180,000
net book value)....................... 45,000 debit D3
Copyright ($25,000 fair —
$10,000 book value)............... 15,000 debit D4
Premium on bonds payable
($105,000 fair — $100,000
book value)..........ccccvvvveennennn, (5,000) credit D5
Goodwill ($475,000 —
$335,000) ...evviiiiiiieeeeeee 140,000 debit D6
Total ..o $225,000
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Problem 2-6, Concluded

(2) Adam Company and Subsidiary Sampson Company
Worksheet for Consolidated Balance Sheet
December 31, 2011
Eliminations Consolidated
Balance Sheet and Adjustments Balance
Adam Sampson Dr. Cr. Sheet
Cash ..o 160,000 40,000 s 200,000
Accounts Receivable.................. 70,000 30,000 s e 100,000
INVENLONY......evvvieiiiee e, 130,000 120,000 (D1) 20,000 ... 270,000
Investment in Sampson.............. 475,000  eeeeeees e (EL) 250,000 ............
..................................... (D) 225,000
Land ....ccooeeeeiiiie e 50,000 35,000 (b2) 10,000 ... 95,000
Buildings and Equipment............ 350,000 230,000 (D3) 45,000 ............ 625,000
Accumulated Depreciation ......... (100,000)  (50,000) e e (150,000)
CopyrightS ......ccvveeeiiiiiee e, 40,000 10,000 (D4) 15,000 ... 65,000
€0 oo 111/ S (D6) 140,000 ... 140,000
Current Liabilities ....................... (192,000) (65,000) e e (257,000)
Bonds Payable.......c.ccccoccvvviviiies i, (100,000) s e (100,000)
Discount (Premium)......ccocccviiies cviiiieiees e e (D5) 5,000 (5,000)
Common Stock—Sampson......... ..o (50,000) (EL) 50,000 e
Paid-In Capital in Excess of
Par—Sampson.......ccccceceeeeiiee eveeeeeein, (70,000) (EL) 70,000 e,
Retained Earnings—Sampson...  ........... (130,000) (EL) 130,000 e,
Common Stock—Adam.............. (100,000)  .ooovvceeees e e (100,000)
Paid-In Capital in Excess of
Par—Adam .........ccccceveeiinnenn. (250,000)  cooeeeeveees e e (250,000)
Retained Earnings—Adam......... (633,000)  ceeeeeee s i (633,000)
TotalS .vvveeeiiiee e 0 0 480,000 480,000 0
Eliminations and Adjustments:
(EL) Eliminate investment in subsidiary against subsidiary equity accounts.
(D) Distribute $225,000 excess of cost over book value to:
(D1) Inventory, $20,000.
(D2) Land, $10,000.
(D3) Buildings and equipment, $45,000.
(D4) Copyrights, $15,000.
(D5) Premium on bonds payable, ($5,000).
(D6) Goodwill, $140,000.

61



Ch. 2—Problems

(1)

PROBLEM 2-7
Company Parent NCI
Implied Price Value
Value Analysis Schedule Fair Value (80%) (20%)
Company fair value..........ccccoeoeeiiiieeiiieecieee $475,000 $380,000 $95,000
Fair value of net assets excluding goodwill ...... 335,000 268,000 67,000
GOOAWIll ... $140,000 $112,000 $28,000
Determination and Distribution of Excess Schedule
Company Parent NCI
Implied Price Value
Fair Value (80%) (20%)
Fair value of subsidiary.............. $475,000 $380,000 $ 95,000
Less book value of interest acquired:
Common stock ($5 par).......... $ 50,000
Paid-in capital in excess of par 70,000
Retained earnings................... 130,000
Total equity........cccvvvvveeeennn. $250,000 $250,000 $250,000
Interest acquired..................... 80% 20%
Book value..........ccoceeeeeiiieiiiinnns $200,000 $ 50,000
Excess of fair value over book
ValUB ..o $225,000 $180,000 $ 45,000
Adjustment of identifiable accounts:
Worksheet
Adjustment Key
Inventory ($140,000 fair —
$120,000 book value)............. $ 20,000 debit D1
Land ($45,000 fair — $35,000
book value).........ccccvvvvvviinnnnnns 10,000 debit D2
Buildings and equipment
($225,000 fair — $180,000
net book value)....................... 45,000 debit D3
Copyrights ($25,000 fair —
$10,000 book value)............... 15,000 debit D4
Premium on bonds payable
($105,000 fair — $100,000
book value)..........ccccvvvveennennn, (5,000) credit D5
GoodWill.....covveeeiiiiiiiiiieeeees 140,000 debit D6
Total ovveeeeeec e $225,000
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(2) Adam Company and Subsidiary Sampson Company
Worksheet for Consolidated Balance Sheet
December 31, 2011
Eliminations Consolidated
Balance Sheet and Adjustments Balance
Adam Sampson Dr. Cr. NCI Sheet
Cash...ocoocveiciee e, 255,000 40,000 s e 295,000
Accounts Receivable.............. 70,000 30,000 s e e 100,000
INVENOTY ....cevveiiiiee e 130,000 120,000 (D1) 20,000 e e 270,000
Investment in Sampson.......... 380,000 s (EL) 200,000 e s
..................................... (D) 180,000
Land.....ccccoovvieeiiiiieee e 50,000 35,000 (D2) 10,000 e e 95,000
Buildings and Equipment........ 350,000 230,000 (D3) 45,000 @ e e 625,000
Accumulated Depreciation ..... (100,000)  (50,000) e e e (150,000)
Copyrights ......oeevevviiiiiiiien, 40,000 10,000 (D4) 15,000 @ e e 65,000
GOOAWIll..ccooiiiiieiiiiiie e e, (D6) 140,000 s e, 140,000
Current Liabilities.................... (192,000) (65,000) s e (257,000)
Bonds Payable .........ccccceviiies i, (100,000) s e (100,000)
Discount (Premium) ....ccccccvviees evevviies e, (D5) 5,000 ... (5,000)
Common Stock—Sampson....  ............ (50,000) (EL) 40,000 ... (10,000)  ...oeenn.n.
Paid-In Capital in Excess of
Par—Sampson........cccccceveiee ceeeveiiinns (70,000) (EL) 56,000 ... (14,000) ............
Retained Earnings—Sampson ............ (130,000) (EL) 104,000 (NCI) 45,000 (71,000) ............
Common Stock—Adam.......... (100,000)  cooeovvviees vt e (100,000)
Paid-In Capital in Excess of
Par—Adam........ccccccceevinnnne (250,000)  cieoviiiiees e e (250,000)
Retained Earnings—Adam..... (633,000) oot v e (633,000)
Noncontrolling Interest ...........  ccccicveee evvevveeees e i (95,000) (95,000)
TotalS...oeeeviiiee e 0 430,000 430,000 0 0

Eliminations and Adjustments:
Eliminate investment in subsidiary against 80% of the subsidiary equity accounts.
Distribute $180,000 excess of cost over book value and $45,000 NCI adjustment to:

(EL)
(D)/(NCI)
(D1)
(D2)
(D3)
(D4)
(DS)
(D6)

Inventory, $20,000.
Land, $10,000.

Buildings and equipment, $45,000.

Copyrights, $15,000.

Premium on bonds payable, ($5,000).

Goodwill, $140,000.
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(1)

PROBLEM 2-8
Company Parent NCI
Implied Price Value
Value Analysis Schedule Fair Value (100%) (0%)
Company fair value..........ccccooviiiiiiiiiiei $500,000 $500,000 N/A
Fair value of net assets excluding goodwill ...... 450,000 450,000
GOOAWIll ... $ 50,000 $ 50,000
Determination and Distribution of Excess Schedule
Company Parent NCI
Implied Price Value
Fair Value (100%) (0%)
Fair value of subsidiary.............. $500,000 $500,000 N/A
Less book value of interest acquired:
Common stock ($1 par).......... $ 10,000
Paid-in capital in excess of par 90,000
Retained earnings................... 60,000
Total equity........cccvvvvveeeennn. $160,000 $160,000
Interest acquired..................... 100%
Book value..........ccocceeeeiiieeiinnenns $160,000
Excess of fair value over book
ValUB ..o $340,000 $340,000
Adjustment of identifiable accounts:
Worksheet
Adjustment Key
Inventory ($60,000 fair —
$50,000 book value)............... $ 10,000 debit D1
Land ($80,000 fair — $40,000
book value)..........cccvvvvvvinnnnnnns 40,000 debit D2
Buildings ($320,000 fair —
$150,000 net book value)....... 170,000 debit D3
Equipment ($60,000 fair —
$40,000 net book value)......... 20,000 debit D4
Copyright ($50,000 fair —
$0 book value)...........cccuveeenne. 50,000 debit D5
GoodWill.....coeveeiiiiiiiiiieiees 50,000 debit D6
Total ..o, $340,000
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(2) Palto Company and Subsidiary Saleen Company
Worksheet for Consolidated Balance Sheet
January 1, 2011

Ch. 2—Problems

Eliminations Consolidated
Balance Sheet and Adjustments Balance
Palto Saleen Dr. Cr. Sheet
Cash...ocoocveiciee e, 61,000  cooeees e vt 61,000
Accounts Receivable.............. 65,000 20,000 e 85,000
INVENOTY ....ovvveiiiiiie e 80,000 50,000 (D1) 10,000 ... 140,000
Investment in Saleen.............. 500,000  .eeeees e, (EL) 160,000 ...
..................................... (D) 340,000
Land.....ccccooviiieniiiiee e 100,000 40,000 (D2) 40,000 ... 180,000
Buildings.....cccceovvvieeeeiieeee 250,000 200,000 (D3) 170,000 ... 620,000
Accumulated Depreciation ..... (80,000) (50,000) s (130,000)
Equipment ..........cocceeviiiienens 90,000 60,000 (D4) 20,000 ... 170,000
Accumulated Depreciation ..... (40,000) (20,000) s e (60,000)
Copyright ..o e e, (D5) 50,000 ... 50,000
GOoOAWIll....coccviieeiiciie e e e (D6) 50,000 ... 50,000
Current Liabilities................... (80,000)  (40,000) e e (120,000)
Bonds Payable ....................... (200,000) (100,000) e e (300,000)
Common Stock ($1 par)—
Saleen ....ovviiii e (10,000) (EL) 10,000 e e
Paid-In Capital in Excess of
Par—Saleen......ccccccccvviiiies eevvviiinns (90,000) (EL) 90,000 .. e
Retained Earnings—Saleen... ............ (60,000) (EL) 60,000 e e
Common Stock—Palto........... (20,000)  .ioeeiieeees e e (20,000)
Paid-In Capital in Excess of
Par—Palto..........ccccvvevnnnenn. (180,000)  cocooeeeees e v, (180,000)
Retained Earnings—Palto....... (546,000) oo e weeeeeens (546,000)
TotalS...oeeeviieee e 0 0 500,000 500,000 = ...
[\ To] g TeTe g o] |1 TqTe I 101 (] €= 2] S UUPPUUT
Controlling Retained Earnings............ueeiiiiaoiiiiiiiiee et a e benne e e e e e eeiiiiia
B 0] 7= 1T PP U OPPUPPPR 0
Eliminations and Adjustments:
(EL) Eliminate the investment in the subsidiary against the subsidiary equity accounts.
(D) Distribute $340,000 excess of cost over book value as follows:
(D1) Inventory, $10,000.
(D2) Land, $40,000.
(D3) Buildings, $170,000.
(D4) Equipment, $20,000.
(D5) Copyright, $50,000.
(D6) Goodwill, $50,000.
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Ch. 2—Problems

(1)

PROBLEM 2-9
Company Parent NCI
Implied Price Value
Value Analysis Schedule Fair Value (100%) (0%)
Company fair value..........ccccooviiiiiiiiiiei $400,000 $400,000 N/A
Fair value of net assets excluding goodwill ...... 450,000 450,000
Gain on acquisition ..........cccccevviiii e eeeeeeree e $(50,000) $(50,000)
Determination and Distribution of Excess Schedule
Company Parent NCI
Implied Price Value
Fair Value (100%) (0%)
Price paid for investment........... $400,000 $400,000 N/A
Less book value of interest acquired:
Common stock ($1 par).......... $ 10,000
Paid-in capital in excess of par 90,000
Retained earnings................... 60,000
Total equity........cccvvvvveeeennn. $160,000 $160,000
Interest acquired..................... 100%
Book value..........ccocceeeeiiieeiinnenns $160,000
Excess of fair value over book
ValUB ..o $240,000 $240,000
Adjustment of identifiable accounts:
Worksheet
Adjustment Key
Inventory ($60,000 fair —
$50,000 book value)............... $ 10,000 debit D1
Land ($80,000 fair — $40,000
book value)..........ccccvvvvvinnnnnnes 40,000 debit D2
Buildings ($320,000 fair —
$150,000 net book value)....... 170,000 debit D3
Equipment ($60,000 fair —
$40,000 net book value)......... 20,000 debit D4
Copyright ($50,000 fair —
$0 book value)..........cccveenee. 50,000 debit D5
GaIN .o (50,000) debit D6
Total . $240,000
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Problem 2-9, Concluded

Ch. 2—Problems

(2) Palto Company and Subsidiary Saleen Company
Worksheet for Consolidated Balance Sheet
January 1, 2011
Eliminations Consolidated
Balance Sheet and Adjustments Balance
Palto Saleen Dr. Cr. Sheet
Cash...ocooceeiiiiee e 161,000  .eeees e e 161,000
Accounts Receivable.............. 65,000 20,000 e 85,000
INVENOTY ....ovvveiiiiiie e 80,000 50,000 (D1) 10,000 ... 140,000
Investment in Saleen.............. 400,000  .ceeeeee (EL) 160,000 ...
..................................... (D) 240,000
Land.....ccccooviiieniiiiee e 100,000 40,000 (D2) 40,000 ... 180,000
Buildings.....cccceovvvieeeeiieeee 250,000 200,000 (D3) 170,000 ... 620,000
Accumulated Depreciation ..... (80,000) (50,000) s (130,000)
Equipment ..........cocceeviiiienens 90,000 60,000 (D4) 20,000 ... 170,000
Accumulated Depreciation ..... (40,000) (20,000) s e (60,000)
Copyright ..o e e, (D5) 50,000 ... 50,000
0T T A1
Current Liabilities................... (80,000)  (40,000) e e (120,000)
Bonds Payable ....................... (200,000) (100,000) e e (300,000)
Common Stock ($1 par)—
Saleen ....ovviiii e (10,000) (EL) 10,000 e e
Paid-In Capital in Excess of
Par—Saleen......ccccccccvviiiies eevvviiinns (90,000) (EL) 90,000 .. e
Retained Earnings—Saleen... ............ (60,000) (EL) 60,000 e e
Common Stock—Palto........... (20,000)  .ioeeiieeees e e (20,000)
Paid-In Capital in Excess of
Par—Palto..........ccccvvevnnnenn. (180,000)  cocooeeeees e v, (180,000)
Retained Earnings—Palto...... (546,000)  eeeeee. i (D6) 50,000 (596,000)
TotalS...oeeeviieee e 0 0 450,000 450,000 @ ..
[\ To] g TeTe g o] |1 TqTe I 101 (] €= 2] S UUPPUUT
Controlling Retained Earnings.............ceiiiaiiiiiiiiiiiieee et e e e e e e e e sbnnne e e e e e e e eeeiiiie
LI 0] 1 F U UUUUU 0
Eliminations and Adjustments:
(EL) Eliminate the investment in the subsidiary against the subsidiary equity accounts.
(D) Distribute $240,000 excess of cost over book value as follows:
(D1) Inventory, 10,000.
(D2) Land, $40,000.
(D3) Buildings, $170,000.
(D4) Equipment, $20,000.
(D5) Copyright, $50,000.
(D6) Gain on acquisition (close to Palto’s Retained Earnings), $50,000.
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Ch. 2—Problems

PROBLEM 2-10

1) Company Parent NCI
Implied Price Value
Value Analysis Schedule Fair Value (80%) (20%)
Company fair value..........ccccoeoeeiiiieeiiieecieee $492,000 $400,000 $92,000*
Fair value of net assets excluding goodwill ...... 450,000 360,000 90,000
GOOAWIIl ... $ 42,000 $ 40,000 $ 2,000

*2.000 shares x $46.

Determination and Distribution of Excess Schedule

Company Parent NCI
Implied Price Value
Fair Value (80%) (20%)
Fair value of subsidiary.............. $492,000 $400,000 $ 92,000
Less book value of interest acquired:
Common stock ($1 par).......... $ 10,000
Paid-in capital in excess of par 90,000
Retained earnings................... 60,000
Total equity........cccvvvveeeeeennn. $160,000 $160,000 $160,000
Interest acquired..................... 80% 20%
Book value.........ccccovvveeiiiiinneen, $128,000 $ 32,000
Excess of fair value over book
ValUB ..o $332,000 $272,000 $ 60,000
Adjustment of identifiable accounts:
Worksheet
Adjustment Key
Inventory ($60,000 fair —
$50,000 book value)............... $ 10,000 debit D1
Land ($80,000 fair — $40,000
book value)........cccccceeeiiiiinnens 40,000 debit D2
Buildings ($320,000 fair —
$150,000 net book value)....... 170,000 debit D3
Equipment ($60,000 fair —
$40,000 net book value)......... 20,000 debit D4
Copyright ($50,000 fair —
$0 book value)..........ccceeenee.. 50,000 debit D5
GoodWill.....cevveeeiiiiiiiiieee s 42,000 debit D6
Total ., $332,000
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Problem 2-10, Concluded

Ch. 2—Problems

(2) Palto Company and Subsidiary Saleen Company
Worksheet for Consolidated Balance Sheet
January 1, 2011
Eliminations Consolidated
Balance Sheet and Adjustments Balance
Palto Saleen Dr. Cr. NCI Sheet
Cash...ocooceeiiiiee e 161,000 s e e e 161,000
Accounts Receivable.............. 65,000 20,000 s e e 85,000
INVENOTY ....ovvveiiiiiie e 80,000 50,000 (D1) 10,000 e e 140,000
Investment in Saleen.............. 400,000 e s (EL) 128,000 .o i
..................................... (D) 272,000
Land.....ccccooviiieniiiiee e 100,000 40,000 (D2) 40,000 e e 180,000
Buildings.......ccoovvviveeiiiinee 250,000 200,000 (D3) 170,000 e e 620,000
Accumulated Depreciation ..... (80,000) (50,000) s e e (130,000)
Equipment .........cccceeviiieeenne 90,000 60,000 (D4) 20,000 @ e e 170,000
Accumulated Depreciation ..... (40,000) (20,000) s e v (60,000)
Copyright ..o e e, (D5) 50,000 s e 50,000
GOoOAWIll....cocviieeiiiiie e e e (D6) 42,000 e e 42,000
Current Liabilities.................... (80,000)  (40,000)  eiies e e (120,000)
Bonds Payable ....................... (200,000) (100,000) e e e (300,000)
Common Stock ($1 par)—
SaleeN ....oovviiii e (10,000) (EL) 8,000 ... (2,000) ............
Paid-In Capital in Excess of
Par—Saleen........cccecvviiies vevviinenn, (90,000) (EL) 72,000 ... (18,000)  ............
Retained Earnings—Saleen... ............ (60,000) (EL) 48,000 (NCI) 60,000 (72,000)  ............
Common Stock—Palto........... (20,000)  crieeeiieies s e e (20,000)
Paid-In Capital in Excess of
Par—Palto..........cccceeevnnnnn, (180,000)  cccooeeeees i e e (180,000)
Retained Earnings—Palto....... (546,000) e e e e (546,000)
TotalS...oeeeviieee e 0 0 460,000 460,000  eeveeee e,
NONCONTIOIING INTEIEST .....eeieiii it e e e e et e e e e e e e s nenes (92,000) (92,000)
Controlling RetaiNed EarNiNgS. ..........uuiiiiaiiiiiiiiiiii ettt e e e e e e et e e e e e e e s sanbbseeeeaa e s e s anbbreeeeeesaanbnnnee _ieeeeeiess
B I 0] 7= 1T RO RPRPR 0

Eliminations and Adjustments:

(EL)

(D)/(NCI)

(D1) Inventory, $10,000.
(D2) Land, $40,000.

(D3) Buildings, $170,000.
(D4) Equipment, $20,000.
(D5) Copyright, $50,000.
(D6) Goodwill, $42,000.
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Eliminate the investment in the subsidiary against the subsidiary equity accounts.
Distribute $272,000 excess and adjust NCI $60,000 (total $332,000 excess) as follows:




Ch. 2—Problems

(1)

PROBLEM 2-11

Company Parent NCI
Implied Price Value
Value Analysis Schedule Fair Value (80%) (20%)
Company fair value..........ccccoeoeeiiiieeiiieecieee $390,000 $300,000 $90,000*
Fair value of net assets excluding goodwill ...... 450,000 360,000 90,000
Gain on acquisition ..........cccccevviiiieeeeeeeeiee e, $(60,000) $(60,000) $ 0

*NCI minimum allowed.

Determination and Distribution of Excess Schedule

Company Parent NCI
Implied Price Value
Fair Value (80%) (20%)
Price paid for investment........... $390,000 $300,000 $ 90,000
Less book value of interest acquired:
Common stock ($1 par).......... $ 10,000
Paid-in capital in excess of par 90,000
Retained earnings................... 60,000
Total equity........cccvvvveeeeeennn. $160,000 $160,000 $160,000
Interest acquired..................... 80% 20%
Book value.........ccccovvveeiiiiinneen, $128,000 $ 32,000
Excess of fair value over book
ValUB ..o $230,000 $172,000 $ 58,000
Adjustment of identifiable accounts:
Worksheet
Adjustment Key
Inventory ($60,000 fair —
$50,000 book value)............... $ 10,000 debit D1
Land ($80,000 fair — $40,000
book value)..........cccvvvvviinnnnnes 40,000 debit D2
Buildings ($320,000 fair —
$150,000 net book value)....... 170,000 debit D3
Equipment ($60,000 fair —
$40,000 net book value)......... 20,000 debit D4
Copyright ($50,000 fair — $0
book value).........ccccuvvvvvvinnnnnnns 50,000 debit D5
Gain on acquisition .................... (60,000) credit D6
Total . $230,000
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Problem 2-11, Concluded

(2) Palto Company and Subsidiary Saleen Company
Worksheet for Consolidated Balance Sheet
January 1, 2011

Ch. 2—Problems

Eliminations Consolidated
Balance Sheet and Adjustments Balance
Palto Saleen Dr. Cr. NCI Sheet
Cash...ocooceeiiiiee e 261,000 s e e 261,000
Accounts Receivable.............. 65,000 20,000 s e e 85,000
INVENOTY ....ovvveiiiiiie e 80,000 50,000 (D1) 10,000 e e 140,000
Investment in Saleen.............. 300,000 s e, (EL) 128,000 .o i
..................................... (D) 172,000
Land.....ccccooviiieniiiiee e 100,000 40,000 (D2) 40,000 e e 180,000
Buildings.......ccoovvviveeiiiinee 250,000 200,000 (D3) 170,000 e e 620,000
Accumulated Depreciation ..... (80,000) (50,000) s e e (130,000)
Equipment .........cccceeviiieeenne 90,000 60,000 (D4) 20,000 @ e e 170,000
Accumulated Depreciation ..... (40,000) (20,000) s e v (60,000)
Copyright ..o e e, (D5) 50,000 s e 50,000
Lo o o 11
Current Liabilities.................... (80,000)  (40,000)  eiies e e (120,000)
Bonds Payable ....................... (200,000) (100,000) e e e (300,000)
Common Stock ($1 par)—
SaleeN ....oovviiii e (10,000) (EL) 8,000 ... (2,000) ............
Paid-In Capital in Excess of
Par—Saleen........cccecvviiies vevviinenn, (90,000) (EL) 72,000 ... (18,000)  ............
Retained Earnings—Saleen... (60,000) (EL) 48,000 (NCI) 58,000 (70,000)  ....ooe.....
Common Stock—Palto........... (20,000)  crieeeiieies s e e (20,000)
Paid-In Capital in Excess of
Par—Palto..........cccceeevnnnnn, (180,000)  cccooeeeees i e e (180,000)
Retained Earnings—Palto....... _(546,000)  eeeeee. i (D6) _60,000 ............ (606,000)
TotalS...oeeeviieee e 0 0 418,000 418,000  eoeeee e,
NONCONTIOIING INTEIEST .....eeieiii it e e e e et e e e e e e e s nenes (90,000) (90,000)
Controlling RetaiNed EarNiNgS. ..........ueiiiiaiiiiiiiieiiia ettt e e et e e e e e e e e s st b beeeeaaeseaanbbeneeeessaannnnnee _ieiieeiess
B I 0] 7= 1T RO RPRPR 0

Eliminations and Adjustments:

(EL)

(D)/(NCI)

(D1) Inventory, $10,000.
(D2) Land, $40,000.

(D3) Buildings, $170,000.
(D4) Equipment, $20,000.
(D5) Copyright, $50,000.
(D6)
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Gain on acquisition (close to Palto’s Retained Earnings), $60,000.

Eliminate the investment in the subsidiary against the subsidiary equity accounts.
Distribute $172,000 excess and adjust NCI $58,000 (total $230,000 excess) as follows:



Ch. 2—Problems

(1)

PROBLEM 2-12

Company Parent NCI
Implied Price Value
Value Analysis Schedule Fair Value (100%) (0%)
Company fair value...........ccccceeeviiiii e $1,100,000 $1,100,000 N/A
Fair value of net assets excluding goodwill ...... 850,000 850,000
GOOAWIll ... $ 250,000 $ 250,000
Determination and Distribution of Excess Schedule
Company Parent NCI
Implied Price Value
Fair Value (100%) (0%)
Fair value of subsidiary.............. $1,100,000 $1,100,000 N/A
Less book value interest acquired:
Common stock ($1 par).......... $ 10,000
Paid-in capital in excess of par 190,000
Retained earnings................... 140,000
Total equity........cccvvvvveeeennn. $ 340,000 $ 340,000
Interest acquired..................... 100%
Book value..........ccocceeeeiiieeiinnenns $_ 340,000
Excess of fair value over book
ValUB ..o $ 760,000 $ 760,000
Adjustment of identifiable accounts:
Worksheet
Adjustment Key
Inventory ($100,000 fair —
$120,000 book value)............. $(20,000) credit D1
Land ($200,000 fair — $100,000
book value).........ccccvvvvvviinnnnnns 100,000 debit D2
Buildings ($400,000 fair —
$200,000 net book value)....... 200,000 debit D3
Equipment ($200,000 fair —
$90,000 net book value)......... 110,000 debit D4
Patent ($150,000 fair —
$10,000 book value)............... 140,000 debit D5
Computer software ($50,000
fair — $0 book value)............... 50,000 debit D6
Premium on bonds payable
($210,000 fair — $200,000
book value)..........ccccvvvvieennenn. (10,000) credit D7
Goodwill ($250,000 fair —
$60,000 book value)............... 190,000 debit D8
Total .ovveeiiii $760,000
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Ch. 2—Problems

Problem 2-12, Concluded

(2) Purnell Corporation and Subsidiary Sentinel Corporation
Worksheet for Consolidated Balance Sheet
December 31, 2011

Eliminations Consolidated
Balance Sheet and Adjustments Balance
Purnell Sentinel Dr. Cr. Sheet
Cash...ocooceiiiieccee e, 20,000 s e e 20,000
Accounts Receivable........... 300,000 50,000 350,000
101772101 (0] oYU 410,000 120,000 e (D1) 20,000 510,000
Investment in Sentinel......... 1,100,000 .o e (EL) 340,000 ...
..................................... (D) 760,000
Land....ccccovviieeniiiiiee i, 800,000 100,000 (D2) 100,000 ... 1,000,000
Buildings.......cccoovvvviieiiienn, 2,800,000 300,000 (D3) 200,000 ... 3,300,000
Accumulated Depreciation..  (500,000) (100,000)  .eeeeees i (600,000)
Equipment .........ccccceeiiiinnnn. 600,000 140,000 (D4) 110,000 ... 850,000
Accumulated Depreciation..  (230,000) (50,000) .eeeien i (280,000)
Patent.....ccccvceeviiiiiciii e 10,000 (D5) 140,000 ... 150,000
Computer Software .........c... . ceevecvies e (b6) 50,000 ... 50,000
GoodWill......ccvvieeiiciiiic i e, 60,000 (D8) 190,000 .......... 250,000
Current Liabilities................. (150,000) (90,000) s e (240,000)
Bonds Payable..................... (300,000) (200,000) s e (500,000)
Premium on Bonds Payable ... ... . (D7) 10,000 (10,000)
Common Stock—Sentinel...  ............ (10,000) (EL) 10,000 .eeeer e
Paid-In Capital in Excess of
Par—Sentinel......cc..cccceeee. i (190,000) (EL) 190,000 @ .eeeeeer e
Retained Earnings—Sentinel  ............ (140,000) (EL) 140,000  .eeeer e
Common Stock—Purnell..... (95,000)  .ieeieiiees e v (95,000)
Paid-In Capital in Excess of
Par—Purnell..................... (3,655,000)  .ovciies e e, (3,655,000)
Retained Earnings—Purnell (1,100,000)  ........o...  _ eeieeeene eeeiieeee.. (1,100,000)
TotalS...coveviiiieeeciiee e, 0 0 1,130,000 1,130,000 @ ...
N
B 0] 7= 1T PP U OPPUPPPR 0
Eliminations and Adjustments:
(EL) Eliminate parent ownership interest.
(D) Distribute excess.
Distribute adjustments:
(D1) Inventory.
(D2) Land.
(D3) Buildings.
(D4) Equipment.
(D5) Patent.
(D6) Computer software.
(D7) Premium on bonds payable.
(D8) Goodwill.
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Ch. 2—Problems

(1)

PROBLEM 2-13

Company Parent NCI
Implied Price Value
Value Analysis Schedule Fair Value (100%) (0%)
Company fair value..........ccccooviiiiiiiiiiei $800,000 $800,000 N/A
Fair value of net assets excluding goodwill ...... 850,000 850,000
Gain on acquisition ..........cccccevviiii e eeeeeeree e $(50,000) $(50,000)
Determination and Distribution of Excess Schedule
Company Parent NCI
Implied Price Value
Fair Value (100%) (0%)
Price paid for investment........... $800,000 $800,000 N/A
Less book value interest acquired:
Common stock ($1 par).......... $ 10,000
Paid-in capital in excess of par 190,000
Retained earnings .................. 140,000
Total equity........ccoeeuvveeenns $340,000 $340,000
Interest acquired....................... 100%
Book value..........ccccceeeevineiiinnnns $340,000
Excess of fair value over book
value......ooccoevvvviie $460,000 $460,000
Adjustment of identifiable accounts:
Worksheet
Adjustment Key
Inventory ($100,000 fair —
$120,000 book value)............. $(20,000) credit D1
Land ($200,000 fair —
$100,000 book value)............. 100,000 debit D2
Buildings ($400,000 fair —
$200,000 net book value)....... 200,000 debit D3
Equipment ($200,000 fair —
$90,000 net book value)......... 110,000 debit D4
Patent ($150,000 fair — $10,000
book value).........ccccevvvivinnnnnnns 140,000 debit D5
Computer software ($50,000
fair — $0 book value)............... 50,000 debit D6
Premium on bonds payable
($210,000 fair — $200,000
book value)..........cccvvvvvvinnnnnnns (10,000) credit D7
Goodwill ($0 fair — $60,000
book value)..........cccuvvvvennnnnnnes (60,000) credit D8
Gain on acquisition..................... (50,000) credit D9
Total .o $460,000
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Problem 2-13, Concluded

(2) Purnell Corporation and Subsidiary Sentinel Corporation
Worksheet for Consolidated Balance Sheet
December 31, 2011

Ch. 2—Problems

Eliminations Consolidated
Balance Sheet and Adjustments Balance
Purnell Sentinel Dr. Cr. Sheet
Cash...ocooceiiiieccee e, 20,000 s e e 20,000
Accounts Receivable........... 300,000 50,000 350,000
101772101 (0] oYU 410,000 120,000 e (D1) 20,000 510,000
Investment in Sentinel......... 800,000  ...ceoeees (EL) 340,000 ..
..................................... (D) 460,000
Land....ccccovviieeniiiiiee i, 800,000 100,000 (D2) 100,000 ... 1,000,000
Buildings.......cccoovvvviieiiienn, 2,800,000 300,000 (D3) 200,000 ... 3,300,000
Accumulated Depreciation..  (500,000) (100,000)  .eeeeees i (600,000)
Equipment .........ccccceeiiiinnnn. 600,000 140,000 (D4) 110,000 ... 850,000
Accumulated Depreciation..  (230,000) (50,000) .eeeien i (280,000)
Patent.....ccccvceeviiiiiciii e 10,000 (D5) 140,000 ... 150,000
Computer Software .........c... . ceevecvies e (b6) 50,000 ... 50,000
GoodWill......ccovveeeiiiiiec i e, 60,000 = ... (D8) 60,000 ...
Current Liabilities................. (150,000) (90,000) s e (240,000)
Bonds Payable..................... (300,000) (200,000) s e (500,000)
Premium on Bonds Payable ... ... . (D7) 10,000 (10,000)
Common Stock—Sentinel...  ............ (10,000) (EL) 10,000 . i
Paid-In Capital in Excess of
Par—Sentinel......cc..cccceeee. i (190,000) (EL) 190,000 @ .eeeeeer i
Retained Earnings—Sentinel  ............ (140,000) (EL) 140,000  .eeeeer e
Common Stock—Purnell..... (89,000) .iieeevvieis e v (89,000)
Paid-In Capital in Excess of
Par—Purnell..................... (3,361,000)  .ocovciies e e, (3,361,000)
Retained Earnings—Purnell (1,100,000)  .cccooccee. svverernn. (D9) _50,000 (1,150,000)
TotalS...coveviiiieeeciiee e, 0 0 940,000 940,000 = ...
N1 PP
B 0] 7= 1T PP U OPPUPPPR 0

Eliminations and Adjustments:

(EL) Eliminate parent ownership interest.
(D) Distribute excess.

Distribute adjustments:

(D1) Inventory.

(D2) Land.

(D3) Buildings.

(D4) Equipment.

(D5) Patent.

(D6) Computer software.

(D7) Premium on bonds payable

(D8) Goodwill.

(D9) Gain on acquisition (close to parent Retained Earnings).
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Ch. 2—Problems

(1)

PROBLEM 2-14

Company Parent NCI
Implied Price Value
Value Analysis Schedule Fair Value (80%) (20%)
Company fair value..........ccccooviiiiiiiiiiei $1,187,500 $950,000 $237,500
Fair value of net assets excluding goodwill ...... 850,000 680,000 170,000
GOOAWIIl ... $ 337,500 $270,000 $ 67,500

Determination and Distribution of Excess Schedule

Company Parent NCI
Implied Price Value
Fair Value (80%) (20%)
Fair value of subsidiary.............. $1,187,500 $950,000 $237,500
Less book value interest acquired:
Common stock ($1 par).......... $ 10,000
Paid-in capital in excess of par 190,000
Retained earnings................... 140,000
Total equity........cccvvvvveeeennn. $ 340,000 $340,000 $340,000
Interest acquired..................... 80% 20%
Book value..........ccoceeeeeiiieiiiinnns $272,000 $ 68,000
Excess of fair value over book
ValUB ..o $ 847,500 $678,000 $169,500
Adjustment of identifiable accounts:
Worksheet
Adjustment Key
Inventory ($100,000 fair —
$120,000 book value)............. $(20,000) credit D1
Land ($200,000 fair —
$100,000 book value)............. 100,000 debit D2
Buildings ($400,000 fair —
$200,000 net book value)....... 200,000 debit D3
Equipment ($200,000 fair —
$90,000 net book value)......... 110,000 debit D4
Patent ($150,000 fair —
$10,000 book value)............... 140,000 debit D5
Computer software ($50,000
fair — $0 book value)............... 50,000 debit D6
Premium on bonds payable
($210,000 fair — $200,000
book value)..........ccccvvvvieennenn. (10,000) credit D7
Goodwill ($337,500 fair —
$60,000 book value)............... 277,500 debit D8
Total .o $847,500
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Problem 2-14, Concluded

Ch. 2—Problems

(2) Purnell Corporation and Subsidiary Sentinel Corporation
Worksheet for Consolidated Balance Sheet
December 31, 2011
Eliminations Consolidated
Balance Sheet and Adjustments Balance
Purnell Sentinel Dr. Cr. NCI Sheet
Cash...ocooceiiiieccee e, 20,000 s i e e 20,000
Accounts Receivable........... 300,000 50,000 e e e 350,000
101772101 (0] oYU 410,000 120,000 e (D1) 20,000 ............ 510,000
Investment in Sentinel......... 950,000 s e, (EL) 272,000 .o s
..................................... (D) 678,000
Land....ccccovviieeniiiiiee i, 800,000 100,000 (D2) 100,000 e e 1,000,000
Buildings.......cccoovvvviieiiienn, 2,800,000 300,000 (D3) 200,000 e e 3,300,000
Accumulated Depreciation..  (500,000) (100,000) s e e (600,000)
Equipment .........ccccceeiiiinnnn. 600,000 140,000 (D4) 110,000 e e 850,000
Accumulated Depreciation..  (230,000) (50,000)  eeeih e e (280,000)
Patent.....ccccvceeviiiiiciii e 10,000 (D5) 140,000 .eer e 150,000
Computer Software .........c... . ceveevvies e (D6) 50,000 s e 50,000
GoodWill......ccovveeeiiiiiec i e 60,000 (D8) 277,500 e e 337,500
Current Liabilities................. (150,000) (90,000) s e e (240,000)
Bonds Payable..................... (300,000) (200,000) e v e (500,000)
Premium on Bonds Payable ... ... . (D7) 10,000 ............ (10,000)
Common Stock—Sentinel...  ............ (10,000) (EL) 8,000 ... (2,000) ............
Paid-In Capital in Excess of
Par—Sentinel ......ccccccccceee. i (190,000) (EL) 152,000 ............ (38,000) ............
Retained Earnings—Sentinel  ............ (140,000) (EL) 112,000 (NCI) 169,500 (197,500) ............
Common Stock—Purnell..... (92,000) .ot v v (92,000)
Paid-In Capital in Excess of
Par—Purnell..................... (3,508,000)  ieovciiies e e e (3,508,000)
Retained Earnings—Purnell (1,100,000)  ............  _ ecccvieeeees L eevwevecienn eeeeeenns (1,100,000)
TotalS...coveviiiieeeciiee e, 0 0 1,149,500 1,149,500  eeooeen e
N PSR (237,500) _(237,500)
B I 0] 7= 1RO RPRPR 0
Eliminations:
(EL) Eliminate parent ownership interest.
(D) Distribute excess.
(NCI) Adjust NCI to fair value (credit subsidiary Retained Earnings).
Distribute adjustments:
(D1) Inventory.
(D2) Land.
(D3) Buildings.
(D4) Equipment.
(D5) Patent.
(D6) Computer software.
(D7) Premium on bonds payable.
(D8) Goodwill.

77




Ch. 2—Problems

(1)

PROBLEM 2-15

Company Parent NCI
Implied Price Value
Value Analysis Schedule Fair Value (80%) (20%)
Company fair value...........ccoceeeeeeineeececiieeeee, $ 670,000 $ 500,000 $170,000*
Fair value of net assets excluding goodwill ...... 850,000 680,000 170,000
Gain 0N aCqUISITION .....evveeeiiiiiiiiieee e $(180,000)  $(180,000) $ 0
*Must at least be equal to fair value of net assets.
Determination and Distribution of Excess Schedule
Company Parent NCI
Implied Price Value
Fair Value (80%) (20%)
Price paid for investment........... $670,000 $500,000 $170,000
Less book value interest acquired:
Common stock ($1 par).......... $ 10,000
Paid-in capital in excess of par 190,000
Retained earnings .................. 140,000
Total equity........cccvvvvveeeennn. $340,000 $340,000 $340,000
Interest acquired.................... 80% 20%
Book value..........cccceeeeevineciinenns $272,000 $ 68,000
Excess of fair value over book
ValUB ..o $330,000 $228,000 $102,000
Adjustment of identifiable accounts:
Worksheet
Adjustment Key
Inventory ($100,000 fair —
$120,000 book value)............. $ (20,000) credit D1
Land ($200,000 fair —
$100,000 book value)............. 100,000 debit D2
Buildings ($400,000 fair —
$200,000 net book value)....... 200,000 debit D3
Equipment ($200,000 fair —
$90,000 net book value)......... 110,000 debit D4
Patent ($150,000 fair — $10,000
book value)..........ccccevvveiinnnnnnes 140,000 debit D5
Computer software ($50,000
fair — $0 book value)............... 50,000 debit D6
Premium on bonds payable
($210,000 fair — $200,000
book value)..........cccvvvvvvinnnnnnns (10,000) credit D7
Goodwill ($0 fair — $60,000
book value)..........cccevvvvvnnnnnnnns (60,000) credit D8
Gain on acquisition..................... (180,000) credit D9
Total .o $ 330,000
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Problem 2-15, Concluded

Ch. 2—Problems

(2) Purnell Corporation and Subsidiary Sentinel Corporation
Worksheet for Consolidated Balance Sheet
December 31, 2011
Eliminations Consolidated
Balance Sheet and Adjustments Balance
Purnell Sentinel Dr. Cr. NCI Sheet
Cash...ocooceiiiieccee e, 20,000 s i e e 20,000
Accounts Receivable........... 300,000 50,000 e e e 350,000
101772101 (0] oYU 410,000 120,000 e (D1) 20,000 ............ 510,000
Investment in Sentinel......... 500,000  ceeees e, (EL) 272,000 .o s
..................................... (D) 228,000
Land....ccccovviieeniiiiiee i, 800,000 100,000 (D2) 100,000 e e 1,000,000
Buildings.......cccoovvvviieiiienn, 2,800,000 300,000 (D3) 200,000 e e 3,300,000
Accumulated Depreciation..  (500,000) (100,000) s e e (600,000)
Equipment .........ccccceeiiiinnnn. 600,000 140,000 (D4) 110,000 e e 850,000
Accumulated Depreciation..  (230,000) (50,000)  eeeih e e (280,000)
Patent.....ccccvceeviiiiiciii e 10,000 (D5) 140,000 .eer e 150,000
Computer Software .........c... . ceveevvies e (D6) 50,000 s e 50,000
GoodWill......ccovveeeiiiiiec i e, 60,000 = ... (D8) 60,000 ..ot e,
Current Liabilities................. (150,000) (90,000) s e e (240,000)
Bonds Payable..................... (300,000) (200,000) e v e (500,000)
Premium on Bonds Payable ... ... . (D7) 10,000 ............ (10,000)
Common Stock—Sentinel...  ............ (10,000) (EL) 8,000 ... (2,000) ............
Paid-In Capital in Excess of
Par—Sentinel ......ccccccccceee. i (190,000) (EL) 152,000 ............ (38,000) ............
Retained Earnings—Sentinel  ............ (140,000) (EL) 112,000 (NCI) 102,000 (130,000) ............
Common Stock—Purnell..... (83,000)  .ieeeviieies e v v (83,000)
Paid-In Capital in Excess of
Par—Purnell..................... (3,067,000)  oeeviiiis e e e (3,067,000)
Retained Earnings—Purnell (1,100,000)  .......... e (D9) 180,000 ............ (1,280,000)
TotalS...coveviiiieeeciiee e, 0 0 872,000 872,000  veerrn e
N PSR (170,000) _(170,000)
B I 0] 7= 1RO RPRPR 0
Eliminations:
(EL) Eliminate parent ownership interest.
(D) Distribute excess.
(NCI) Adjust NCI to fair value (credit subsidiary retained earnings).
Distribute adjustments:
(D1) Inventory.
(D2) Land.
(D3) Buildings.
(D4) Equipment.
(D5) Patent.
(D6) Computer software.
(D7) Premium on bonds payable.
(D8) Goodwill.
(D9) Gain on acquisition (close to parent Retained Earnings).
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Ch. 2—Problems

(1)

APPENDIX PROBLEM

PROBLEM 2A-1

Traded
Company Parent NCI
Implied Price Value
Value Analysis Schedule Fair Value (60%)" (40%)°
Company fair value.........ccccccceveeeeieeeiiee e, $240,000? $144,000 $96,000
Fair value of net assets excluding goodwill ...... 235,000 141,000 94,000
GOOAWIll ... $ 5,000 $ 3,000 $ 2,000

Gain on acquisition

®Values are prior to acquisition (4,000 shares x $60 market value).

Subsequent to acquisition, Untraded Company is the “parent” with 6,000 shares out of a
total of 10,000 shares (6,000 newly issued + 4,000 prior shares). Untraded Company has

a 0% ownership interest in the Traded Company.

“Prior to acquisition, this represents 100% ownership of Traded Company; subsequent to
acquisition, these holders of 4,000 shares of Traded Company become the 40% NCI.

Determination and Distribution of Excess Schedule

Fair value of subsidiary..............

Less book value of interest acquired:

Common stock ($1 par)..........

Paid-in capital in excess of par
Retained earnings

Total equity
Interest acquired

Book value

Excess of fair value over book

Adjustment of identifiable accounts:

Building ($200,000 fair —
$100,000 book value).............

Equipment ($40,000 fair —
$20,000 book value)...............

Goodwill...........
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Traded
Company Parent NCI
Implied Price Value
Fair Value (60%) (40%)
$240,000 $144,000 $ 96,000
$ 4,000
96,000
15,000
$115,000 $115,000 $115,000
60% 40%
$ 69,000 $ 46,000
$125,000 $ 75,000 $ 50,000
Worksheet
Adjustment Key
$100,000 debit D1
20,000 debit D2
__ 5,000 debit D3
$125,000



Problem 2A-1, Concluded

Ch. 2—Problems

Traded Company and Subsidiary Untraded Company
January 1, 2011

Eliminations Consolidated
Balance Sheet and Adjustments Balance
Untraded  Traded Dr. Cr. NCI Sheet
Current assets..........cceeeeveeennns 10,000 5,000 e e s 15,000
Investment in Untraded
(©70] 0] oF- 11 )Y 2SR 144,000 e (EL) 69,000  .ccoviees e,
..................................... (D) 75,000
Building......ccoeevviiiiiiiiiieee 150,000 100,000 (D1) 100,000 .o e 350,000
Equipment .........cccceeviiiieenne 100,000 20,000 (D2) 20,000 @ e e 140,000
GOoOAWIll....cocvieeeiiiie e e e (D3) 5000 s e 5,000
Long-Term Liabilities............... (5,000)  (10,000) e e (15,000)
Common Stock—Untraded .... (5,000) ............ (ad)) 5,000 s e e,
Paid-In Capital in Excess of
Par Value—Untraded........... (115,000) ............ (adj) 115,000 = e e
Retained Earnings—Untraded (135,000)  ...ccccccce. eniiviiiiees e e (135,000)
Common Stock—Traded........  .....oceee (10,000) (EL) 2400 . (7,600) ............
(4,000 + 6,000)
Continuing Equity of Traded
@0 1410T= 1 )Y/ (adj) 6,000 ........... (6,000)
Paid-In Capital in Excess of
Par Value—Traded ............. . .occeeene (234,000) (EL) 57,600 ... (176,400)  ............
(96,000 + 144,000 - 6,000)
Continuing Equity of
Traded COMPANY ....ccccvviiies cvviiiiees ieeeeees e (adj) 114,000  ........... (114,000)
Retained Earnings—Traded... _............ (15,000) (EL) 9,000 (NCI) _50,000 (56,000) ............
LI = L SR 0 0 314,000 314,000  Lveerrn e
N PRSP (240,000) (240,000)
B 1] 7= LSOO PRRURIN 0

Eliminations and Adjustments:

(EL)

(D)/(NCI)

(D1) Increase building, $100,000.
(D2) Increase equipment, $20,000.
(D3) Record goodwill.

(adj)
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Eliminate investment account and entries to Traded equity made to record the acquisition.
Distribute fair market value adjustment and NCI adjustment.

Assign Untraded Company equity to paid-in capital of Traded Company.



Ch. 2—Case

CASE
CASE 2-1
(1) Evaluation of price—Fair value of Al's Hardware:
CaAS N e $180,000
Accounts receivable.... ..o 350,000
INVENTOIY ... 600,000
6= 3 (o T 100,000
BUilding ....coooeieeeeeee e, 300,000
Equipment..........cccco 100,000
Current liabilities ... (425,000)
YT g o =T = (600,000)
LaWSUIL...cco oo (300,000)
$305,000 x 60% = $183,000
ValUE QIVEN....c.vvii et 7,500 x $40 = $300,000
This purchase would not be a bargain, because comparing the fair values (including the lawsuit)

(2)

to the price would result in goodwill of $117,000 ($300,000 — $183,000).
Note: This analysis would have the same result if done for only 60% interest in the form of the
D&D schedule with the same result.

Accounting methods:

(@)

(b)

(€)
(d)

GAAP would require that many of the adjustments to recognize fair values must be made
directly on Al's books before consolidation:

Adjust accounts receivable to net realizable value.

Decrease inventory to fair value.

Record estimated liability from lawsuit.

There are no major differences between fair and book values of the long-lived assets. Nor-
mally, they would not be adjusted to fair value, but this could be done under quasi-
reorganization or push-down accounting. The recommendation would be that they be ad-
justed to fair value to improve future reporting. Noncontrolling interest would have to agree to
it as well.

The goodwill on Al's books should be written off because there is no reason to think it exists.

Al's Hardware is a likely candidate for quasi-reorganization, because this procedure adjusts
all assets to fair values and decreases paid-in capital in excess of par to provide the amount
needed to cover the negative balance in retained earnings.

Summary: Accounts receivable, inventory, estimated liability, and goodwill should be adjusted on
the subsidiary’s books. The adjustments of long-lived assets could be done on the subsidiary’s
books under push-down accounting. If the long-lived assets are not adjusted on the subsidiary
books, the adjustment relative to the controlling interest would be made in the consolidation
process.
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